Quesld Question Option 1 Optli;)) 2 Optg) NE Optli;) n4 Correct Answer
1 Film and TV institute in India is located at? Pune ( Maharashtra) Rajkot ( Gujrat) Pimpri ( Maharashtra) Perambur( Tamil Nadu) A
2 During world war Il, when did germany attack france 1940 1941 1942 1943 A
3 Ozon Layer resstrics ? Visible light Infrared radiation X rays and Gamma rays | Ultra violet Radiations D
4 Who was the first Indian Chief of Army Staff of the Indian Army ? Gen. K.M. Cariappa Vice-Admiral R.D. Katari Gen. MahSaiLz;jrz?jiRajendra None of the above A
5 Golden Temple, Amritsar is India's largest Gurdwara oldest Gurudwara Both optié)(;]régnd Bare None of the above A
6 Headquarters of UNO are situated at New York, USA Hague (Netherlands) Geneva Paris A
7 Fathometer is used to measure Earthquakes Rainfall Ocean depth Sound intensity C
8 India has largest deposits of __in the world. gold copper mica None of the above C
9 How many times has Brazil won the World Cup Football Championship? Four times Twice Five times Once c
10 In cricket, the two sets of wickets are 18 yards apart 20 yards apart 22 yards apart 24 yards apart c
11 India is the ___ grower of pulses. largest smallest appropriartliggr national None of the above A
12 Satellite launching station is located at Sriharli)krztézgs(gndhra Solapur (Maharashtra) Salem (Tamilnadu) War?:’nrgzle(:r\]r)mdhra A
13 Sushri Lata Dinanath Mangeshkar received Bharath Ratna in 2000 2001 2002 2003 B
14 Which planet of our Solar system is known as the ‘Watery Planet’? Mercury Earth Mars Jupiter B
15 The main working memory used by the computer is RAM ROM DVD CD A
16 Goods and Services Tax (GST) has been implemented in India from 2017. 1-Apr 1-May 1-Jun 1-Jul D
17 The Indian Constitution was enforced on 30th January, 1950 26th January, 1950 15th August, 1947 26th November, 1949 B
18 Who has become the Miss Universe 2017 in November 20177 Laura Gonzalez Demi-Leigh Nel-Peters Manushi Chhillar None of these B
19 Which economist is the writer of the book ‘| Do What | Do’? Amartya Sen Raghuram Rajan Manmohan Singh Jagdish Bhagwati B
20 How many spokes are there in our national emblem ‘Ashoka Chakra’? 12 20 15 24 D
21 Which one among the following is the biggest unit of measurement of data? Giga Byte Tera Byte Exa Byte Zetta Byte B
22 Which one among the following is the biggest unit of measurement of data? Human ware Firm ware Hardware Software C




23 Which is the world's largest desert? Sahara Gobi Thar Taklamakan
24 Which planet is known as the Earth's Twin? Venus Mars Uranus Neptune

o5 \I\//I\/Irr1“0S tz:)r/n(;)fnlgr]] ftgf mf;)tl:g\r/]vgngri:)rzdmczléetirr?g%nd actors has been conferred Dadasaheb Phalke award for 2016 by the Manoj Kumar Shashi Kapoor Kasinadhuni Viswanath None of these
26 ‘Taneira’, a new and the premium saris and women'’s ethnic-wear brand is from the house of Pantaloons Titan Reliance Trends Fabindia

27 “Something Fresh every day’, is the punch line of which one of the famous food, home and fashion retail chain? Bharti Retalil HyperCity Reliance Retail Future Group
28 The Dr. Babasaheb Ambedkar Marathwada University is at which of the following places? Aurangabad Nanded Parbhani Nagpur

29 Which city is known as 'Electronic City of India'? Mumbai Hyderabad Guragon Bangalore

30 ‘Tez’, a new digital payment app is launched by Google RBI ICICI Bank Airtel

31 Golden Temple is situated in New Delhi Agra Amritsar Mumbai

32 Indian Cancer Research institute is located at New Delhi Calcutta Chennai Mumbai

33 ‘Grasim’ the popular name in Indian textile industry is a subsidiary of Arvind Mills Siyaram Silk JCT Ltd Aditya Birla Group
34 One end of the axis of rotation of the Earth points towards the Moon. the Pole Star. the Sun. Venus.

35 The lowest layer of atmosphere is known as Stratosphere. lonosphere. Troposphere. Mesosphere.
36 Who invented the BALLPOINT PEN? Biro Brothers Waterman Brothers Bicc Brothers Write Brothers
37 Who invented Gramophone? Michael Faraday Fahrenheit Sir Alexaréd(jlr Graham Thomas Alva Edison
38 ‘Madhubani’, a style of folk paintings, is popular in which of the following states in India? Uttar Pradesh Rajasthan Madhya Pradesh Bihar

39 The National Song of India was composed by Rabindranath Tagore Banlg:agggindra Igbal Jai Shankar Prasad
40 In which of the following festivals are boat races a special feature? Onam Rongali Bihu Navratri Pongal

41 In which year did Milkha Singh win the first National title in the 400 m race? 1955 1956 1957 1970

42 How many gold medals have been won by India in the Olympics so far? 4 8 9 10

43 Who has scored the most Test hundreds ever? Steve Waugh Sachin Tendulkar Shane Warne Sunil Gavaskar
44 How many wickets Kapil Dev had taken in Test matches when he retired? 450 430 435 434

45 Which of the following was Satyajit Ray associated with? Classical music Commercial art Film Direction Classical dance




46 Amjad Ali Khan is associated with which of the following musical instruments? Sarod Veena Violin Sitar

47 R. K. Laxman is a renowned Dance master Writer Cartoonist Journalist

48 Who is the Flying Sikh of India? Mohinder Singh Joginder Singh Ajit Pal Singh Milkha singh

49 Miss Universe 1994, Ms. Sushmita Sen hails from which of the following cities? Mumbai Chandigarh New Delhi Bangalore

50 Michael Jackson is a distinguished person in the field of? Pop Music Jounalism Sports Acting

51 From the_Iate 19th _c_entury_a dust coloured light weight cotton fabric called--------------------- was used by the Indian Poplin. Khaki. Silk. Polyester.
Army during the British Raj.

52 Which of the following retail stores belongs to Aditya Birla Retail Group? Big Bazaar Croma Hypercity More

53 The popular fabric and apparel brand J. Hampstead belongs to Raymond Group Aditya Birla Group Dinesh Suiting Siyaram Silk Mills

54 Halter top is a well known female dress which has Full Sleeves Half sleeves No Sleeves None of the above

55 Emerald is a shade of which colour? Blue Green Red Yellow

56 Batik printing involves use of Wax Beads Mirrors Shells

57 A close-fitting necklace is called a Chain Choker Mangalsutra None of the above

58 ‘be you'’ is the trademark of which one of the following e-commerce companies in India? Myntra Jabong Flipkart Snapdeal

59 Retail venture ‘Shoppers Stop’ and ‘HyperCity’ is owned by Bharti Group Future Group Raheja Group Sriram Group

60 ‘Vogue Eyewear’ in India is promoted by Alia. Bhatt Sonam Kapoor Zarine Khan Deepika Padukone

1 In the following the questions choose the word which best expresses the meaning of the given word.  CANNY Obstinate Handsome Clever Stout

2 In the following the questions choose the word which best expresses the meaning of the given word. FAKE Original Imitation Trustworthy Loyal

3 In the following the questions choose the word which best expresses the meaning of the given word. BROWSE Heal Deceive Examine Strike

4 In the following the questions choose the word which best expresses the meaning of the given word. MASSACRE Murder Stab Assassinate Slaughter

5 In the following the questions choose the word which best expresses the meaning of the given word. REFECTORY Restaurant Parlour Living Room Dining Room

6 In the following the questions choose the word which best expresses the meaning of the given word. Diffusion Disagreement Different Degree
DISTINCTION

7 In the following the questions choose the word which best expresses the meaning of the given word. REPEAL Sanction Perpetuate Pass Cancel

3 In the following questions choose the word which is the exact OPPOSITE of the given words. Rough Expert Miserable Awkward
GRACEFUL

9 In the following questions choose the word which is the exact OPPOSITE of the given words. EXTRAVAGANCE Luxury Poverty Economical Cheapness

10 In the following questions choose the word which is the exact OPPOSITE of the given words. INSIPID Tasty Stupid Discreet Feast




11 In the following questions choose the word which is the exact OPPOSITE of the given words. ADDITION Division Enumeration Subtraction Multiplication
12 In the following questions choose the word which is the exact OPPOSITE of the given words. PROVOCATION Vocation Pacification Peace Destruction
13 In the following questions choose the word which is the exact OPPOSITE of the given words. REMISS Forgetful Watchful Dutiful Harmful
14 In the following questions choose the word which is the exact OPPOSITE of the given words. HONORARY Dishonorable Reputed Paid Official
15 Fill in the Blank: Fate smiles ...... those who untiringly grapple with stark realities of life. with over on round
16 Fill in the Blank: Isaw a ...... of cows in the field. group herd swarm flock
17 Fill in the Blank: Success in this examination depends ...... hard work alone. at over for On
18 Fill in the Blank: The car in which the minister was traveling ...... with an accident. hit drove crashed met
19 Fill in the Blank: If you work beyond your capacity, you will naturally feel ...... drowsy tired confident giddy
20 Fill in the Blank: Rama was so badly injured that he needed ...... care in the hospital. extensive little deep intensive
21 Fill in the Blank: Many areas of the city were ...... into darkness for several hours. spread plunged merged deep
22 Fill in the Blank: The passengers were afraid, but the captain ...... them that there was no danger. promised assured advised counselled
23 Fill in the Blank: It's very kind of you to ...... to speak at the meeting. accept agree comply concur
24 Fill in the Blank: Ambition is one of those ...... which are never satisfied. ideas fancies passions feeds
25 Fill in the Blank: He is a very careful person, he never takes side but remains ...... impartial unbiased neutral prejudiced
26 Select the pair which has the same relationship. TEN:DECIMAL seven:septet four:quartet two:binary five:quince
27 Select the pair which has the same relationship. ARMY:LOGISTICS business:strategy soldier:students war:logic team:individual
28 Select the pair which has the same relationship. FILTER:WATER curtail:activity expunge:book edit:text censor:play
29 Select the pair which has the same relationship. PORK:PIG rooster:chicken mutton:sheep steer:beef lobster:crustacean
30 Select the pair which has the same relationship. MUNDANE:SPIRITUAL common:ghostly worldly:unworldly routine:novel secular:clerical
31 Select the pair which has the same relationship. AFTER:BEFORE first:second present:past contemporary:historic successor:predecessor
32 Select the pair which has the same relationship. LIGHT:BLIND speech:dumb language:deaf tongue:sound voice:vibration
33 Select the pair which has the same relationship. HOPE:ASPIRES love:elevates film:flam fib:lie fake:ordinary
34 Select the pair which has the same relationship. THRUST:SPEAR mangle:iron scabbard:sword bow:arrow fence:epee
35 Select the pair which has the same relationship. WAN:COLOUR corpulent:weight insipid:flavour pallid:complexion enigmatic:puzzle

Choose the proper sequence. When he

P : did not know
36 Q : he was nervous and ROPS QSPR SOQPR PQRS

R : heard the hue and cry at midnight

S :what to do

Choose the proper sequence. Since

the beginning of history

P : have managed to catch
37 Q : the Eskimos and Red Indians QRPS SQPR SQRP QPSR

R : by a very difficulty method

S : a few specimens of this aquatic animal

Choose the proper sequence. It has

been established that

P : Einstein was
38 Q : although a great scientist SRPQ QPRS QPSR RQPS

R : weak in arithmetic

S : right from his school days

Choose the proper sequence.

It is easy to excuse
39 |P:butits hard RPQS QRSP QRPS RPSQ

Q :in a boy of fourteen
R : the mischief of early childhood
S : to tolerate even unavoidable faults




Choose the proper sequence.
| saw that
P : but seeing my host in this mood

40 Q : I deemed it proper to take leave QPSR QRPS SPQR SRPQ
R : as | had frequently done before
S . it had been my intention to pass the night there
Choose the proper sequence. The
appearance
P : this dinosaurs were at their peak
4l Q : of the first mammals on the earth SRPQ QSRP QRPS RPQS
R : at the time when
S : went almost unnoticed
Choose the proper sequence. | don't
remember
P : I saw a man dying in front of a hospital
42 Q : but when | left lucknow in 1984 SQRP SQPR QRPS SPRQ
R : hit apparently by a fast moving car
S : the exact date
Choose the proper sequence. The
master
P : who was very loyal to him
43 Q : punished the servant RQPS RQSP QPSR QRPS
R : without giving any valid reason
S : when he left the work unfinished
44 Improve the sentence The hell bent on gettin hell bent for gettin hell bent upon gettin No improvement
workers are hell bent at getting what is due to them. getting getting pon getiing P
45 Improve the _sentence . his. His intense desire His desire for power His fatal desire No improvement
powerful desire brought about his downfall.
46 Impr(_)ve the sentence will Untie Break Loose No improvement
you kindly open the knot?
Improve the sentence : : . .
47 | hope you won't object to me watching while you work. against me watching me to watch to my watching No improvement
48 Improve th? sgntence_ You he leaving his leaving him to leave No improvement
cannot forbid him leaving.
49 Improve the sentence - : : You to commit for committing against to commit No improvement
are warned against committing the same mistake again.
Improve the sentence : . there is no more .
50 . o there is no more seat there is no more space . No improvement
There is no more room for you in this compartment. accommodation
51 Find the correctly spelt words. Ommineous Omineous Ominous Omenous
52 Find the correctly spelt words. Pessenger Passenger Pasanger Pesanger
53 Find the correctly spelt words. indipensable Indipenseble Indispansible Indispensable
54 Find the correctly spelt words. Schedulle Schedeule Schdule Schedule
55 Find the correctly spelt words. Comitte Commitee Committee Comiittee
56 Changing Nouns Into Verbs. Intention intension intent intensity intention
57 Changing Nouns Into Verbs. Entrance enter entrant entry entertain
58 Changing Nouns Into Verbs. Movement Move Movable Movingly Movably
59 Changing Nouns Into Verbs. Personification Person Personify Personifer None of These
60 Changing Nouns Into Verbs. Likelihood Liken Likely Like Likeable
1 Find the odd man ouit. 3,5,11, 14,17, 21 21 17 14 3
2 Find the odd man out. 396, 462, 572, 427, 671, 264 396 427 671 264
3 Find the odd man out. 2,5,10, 17, 26, 37, 50, 64 50 26 37 64
4 Find the odd man out. 41,43, 47,53, 61, 71, 73, 81 61 71 73 81




5 Find the odd man ouit. 10, 14, 16, 18, 21, 24, 26 26 24 21 18
6 A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: 145° 150° 155° 160°
7 The angle between the minute hand and the hour hand of a clock when the time is 4.20, is: 0° 10° 5° 20°
8 At 3:40, the hour hand and the minute hand of a clock form an angle of: 120° 125° 130° 135°
9 How many times are the hands of a clock at right angle in a day? 22 24 44 48
10 How many times in a day, are the hands of a clock in straight line but opposite in direction? 20 22 24 48
11 Which one of the following is not a prime number? 31 61 71 91
12 Which of the following is a prime number ? 33 81 93 97
13 The sum of first five prime numbers is: 11 18 26 28
14 A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour? 3.6 7.2 8.4 10
15 Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45 kmph. For how many minutes does 9 10 12 20
16 A farmer tra\{elled a distance of 61 km .in 9 hours. He travelled partly on foot @ 4 km/hr and partly on bicycle @ 9 14Kkm 15Kk 16Kkm 17km
km/hr. The distance travelled on foot is:
17 How many 3 digit numbers are divisible by 6 in all ? 149 150 151 166
18 How many prime numbers are less than 50 ? 16 15 14 18
19 How many numbers up to 800 are divisible by 24? 30 29 33 25
20 Cost of 24 pens is 96. Find the cost of 16 such pens. 66 64 62 68
21 3+33+333+3.33="7 362.3 372.33 702.33 702




22 Insert the missing number. 7, 26, 63, 124, 215, 342, (....) 481 511 391 421
23 Insert the missing number. 15, 31, 63, 127, 255, (....) 513 511 517 523
24 Insert the missing number. 2,4,12, 48, 240, (....) 960 1440 1080 1920
25 Insert the missing number. 8,7,11,12, 14,17, 17, 22, (....) 27 20 22 24
26 Insert the missing number. 11, 13,17, 19, 23, 29, 31, 37,41, (....) 43 47 53 51
27 Three numbers are in the ratio of 2 : 3 : 4 and their L.C.M. is 240. Their H.C.F. is: 40 30 20 10
28 The H.C.F. of two numbers is 5 and their L.C.M. is 150. If one of the numbers is 25, then the other is: 30 28 24 20
29 Two numbers are in the ratio 2 : 3. If their L.C.M. is 48. what is sum of the numbers? 28 40 64 42
30 What is the HCF of 2.04, 0.24 and 0.8 ? 1 2 0.02 0.04
31 A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train? 120mts 180mts 324mts 150mts
32 In a dairy farm, 40 cows eat 40 bags of husk in 40 days. In how many days one cow will eat one bag of husk? 1 40 20 26
33 If a quarter kg of potato costs 60 paise, how many paise does 200 gm cost? 65 Paise 70 Paise 52 Paise 48 Paise
34 36 men can complete a piece of work in 18 days. In how many days will 27 men complete the same work? 26 22 12 24
35 \':'V\i/;/loitpt)rkeestﬁ Elnnf[jhg t(;?qul ;ill a tank in 12 and 24 minutes respectively. If both the pipes are used together, then how long 9 Min 8 Min 6 Min 4 Min
36 A boat goes 8 km upstream in 24 minutes. The speed of stream is 4 km/hr. The speed of boat in still water is: 25km/hr 26km/hr 22km/hr 24km/hr
37 VAVhs:tn;Soél;n;?aeé’i;S to be distributed among A, B, C, D in the proportion of 5: 2 : 4 : 3. If C gets Rs. 1000 more than D, Rs. 500 rs. 1500 rs. 2000 none of the above
38 18 24 19 20

The fourth proportional to 5, 8, 15 is:




Two number are in the ratio 3 : 5. If 9 is subtracted from each, the new numbers are in the ratio 12 : 23. The smaller

39 - 27 33 49 55
number is:

40 The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the age of the youngest child? 4yrs 8yrs 10yrs none of the above

41 A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, then how old is B? 7 8 9 10

42 Sachin is younger than Rahul by 7 years. If their ages are in the respective ratio of 7 : 9, how old is Sachin? 16yrs 18yrs 28yrs 24.5yrs

43 Look at this series: V, VIII, X1, XIV, __, XX, ... What number should fill the blank? IX XXII XV XVII

44 Look at this series: 8, 43, 11, 41, , 39, 17, ... What number should fill in the blank? 8 14 43 44

45 Look at this series: (1/9), (1/3), 1, , 9, ... What number should fill the blank? (2/3) 3 6 27

46 Look at this series: 15, , 27, 27, 39, 39, ... What number should fill the blank? 51 39 23 15

47 Look at this series: J14, L16, , P20, R22, ... What number should fill the blank? S24 N18 M18 T24

48 Look at this series: 0.15, 0.3, , 1.2, 2.4, ... What number should fill the blank? 4.8 0.006 0.6 0.9

49 What decimal of an hour is a second ? 0.0025 0.0256 0.00027 0.000126

50 0.002x0.5="? 0.0001 0.001 0.01 0.1

51 34.95 + 240.016 + 23.98 = ? 298.0946 298.111 298.946 299.09

52 4.036 divided by 0.04 gives : 1.009 10.09 100.9 none of the above

53 A tank_ls fllle_d |n_5 hours by three pipes A, B and C. The pipe C is twice as fast as B and B is twice as fast as A. How 20hrs SBhrS 35hrs none of the above
much time will pipe A alone take to fill the tank?

: : e e : : 3 hrs 15 min : :

54 A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps are opened. What is the total time 3 hrs 45 min 4hrs 4 hrs 15 min
taken to fill the tank completely?
A tank is filled by three pipes with uniform flow. The first two pipes operating simultaneously fill the tank in the same

55 time during which the tank is filled by the third pipe alone. The second pipe fills the tank 5 hours faster than the first 6hrs 19hrs 15hrs 30hrs

pipe and 4 hours slower than the third pipe. The time required by the first pipe is:




A, B, C subscribe Rs. 50,000 for a business. A subscribes Rs. 4000 more than B and B Rs. 5000 more than C. Out of

56 a total profit of Rs. 35,000, A receives: Rs. 8400 Rs. 11900 Rs. 13600 Rs. 14700
A, B, C rent a pasture. A puts 10 oxen for 7 months, B puts 12 oxen for 5 months and C puts 15 oxen for 3 months for

o7 grazing. If the rent of the pasture is Rs. 175, how much must C pay as his share of rent? RS. 45 Rs. 50 RS. 55 Rs. 60
A began a business with Rs. 85,000. He was joined afterwards by B with Rs. 42,500. For how much period does B

58 join, if the profits at the end of the year are divided in the ratio of 3: 17? 4 months 5 months 6 months 8 months
3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4 pumps work to empty the

59 : 9 10 11 12
tank in 1 day?

60 48 paise 54 paise 56paise 72paise

If a quarter kg of potato costs 60 paise, how many paise will 200 gm cost?




